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Sepal.Length Sepal.Width Petal.Length Petal.Width Species

1 5.1 3.5 1.4 0.2  setosa
2 4.9 3.0 1.4 0.2  setosa
3 4.7 3.2 1.3 0.2 setosa
4 4.6 3.1 1.5 0.2 setosa
5 5.0 3.6 1.4 0.2  setosa
6 5.4 3.9 1.7 0.4  setosa
7 4.6 3.4 1.4 0.3  setosa
& 5.0 3.4 1.5 0.2  setosa
9 4.4 2.9 1.4 0.2  setosa
10 4.9 3.1 1.5 0.1  setosa
11 5.4 3.7 1.5 0.2 setosa
12 4.8 3.4 1.6 0.2 setosa
13 4.8 3.0 1.4 0.1  setosa
14 4.3 3.0 1.1 0.1  setosa
15 5.8 4.0 1.2 0.2  setosa
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« X:sepal length, sepal width, petal length, petal width
- y:Z&9| =2 (Setosa, Virginica, Versicolor)
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XM E2| (Decision Tree)
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Entropy = —pi log(p1) — p2 log(pz)

X2 HH 2 NEZD] :
- P1(CIXt0]42| HIE) =(5/10) = 0.5
- P2(H|C]XtO|HQ] H|E) =(5/10) = 0.5

- UEZN =-0.5*log. (0.5)-0.5*log. (0.5)="1



HEX)=2

ANEZT] : 1

2|lE2F (Information Gain) : =7| YIEZ1] - 34X A EZ 1|
n orLI2 AEZT)

s )4, 3 O, 22 0.965
e 4 o1, s 0.394
o 03 []2, U5 0.604
S =F 4, 25 0.892
e 03 []2, U5 0.604
o )5, 22 213 0.604
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Sepal.Length Sepal.Width Petal.Length Petal.Width Species

1 5.1 3.5 1.4 0.2  setosa
2 4.9 3.0 1.4 0.2  setosa
3 4.7 3.2 1.3 0.2 setosa
4 4.6 3.1 1.5 0.2 setosa
5 5.0 3.6 1.4 0.2  setosa
6 5.4 3.9 1.7 0.4  setosa
7 4.6 3.4 1.4 0.3  setosa
& 5.0 3.4 1.5 0.2  setosa
9 4.4 2.9 1.4 0.2  setosa
10 4.9 3.1 1.5 0.1  setosa
11 5.4 3.7 1.5 0.2 setosa
12 4.8 3.4 1.6 0.2 setosa
13 4.8 3.0 1.4 0.1  setosa
14 4.3 3.0 1.1 0.1  setosa
15 5.8 4.0 1.2 0.2  setosa
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[HAI L] SIAFE™HEZ| (Decision Tree) ¥112|5 €A O|aH{ot7|
https://www.youtube.com/watch?v=n0p0120Gxgk
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https://www.youtube.com/watch?v=n0p0120Gxqk

